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17.  Using Laplace transform, determine the voltage V. Name
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[Supplementary]
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Assume missing data, if any required, stating the same.

Part A

Or

18. Explain the use of step function and impulse function in circuit Analysis. Answer all questions

19. Find h parameters of the network : . Edch question carries 3 marks.
1. What are current dépendent and independent sources ?
3: 9. What is an inductor ? .
1 2 1?—- 3. What is source transformation.
bV ANV L » L
1 \ N 3’ 4. ‘What are poles-and zeros-?
| 5 . W N 5. Draw the magnitude and phase response-of & high pass filter.
V) (5 % 8 = 15 marks)
-, 0 ° - " PartB
Answer all questions.
Each question carries 5 marks.
. 6. Determine the total current in the circuit :
20. Explain cascade and parallel connections of two 2 port networks with diagram.

(5 x 12 = 60 marks) Q [
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7. Obtain the impulse response of a RC circuit.
8. Find the total current to the parallel circuit with an applied voltage of v = 200 sin 5000¢ V.
9. State and prove final value theorem. X
10. Write hybrid parameters and draw its equivalent model.
- (6 x 5 = 25 marks)
Part C

Answer all questions.
Each full question carries 12 marks.

11. Write the mesh equations of the network shown in figure and find the voltage across the
capacitor :

R | -63n
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Or

12. Using superposition theorem, find the current in each resistor: -

.

AN, 28V
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13. Determine the current i (¢) for ¢t > 0. If the initial voltage across the capacitor and initial current

through inductor are both zero.

LA,
v(t)'%e““ C.t) b“

— )3.{:

Or
14. In the circuit, find the value of Vi V, and the total energy stored at ¢ = 0.

AT, \2“\ AV T

C
.‘ ® L1=4M;L2=9M,k=0.5

i; = b cos (650t — 30°)
iy Ly Voo
; iy = 2 cos (50t — 30°)

b

156. Derive the complete solution for the current of series RL circuit with sinusoidal input
V(f) =100 cos (103t + 1:/2), R=20Q,L=01H.

Or

16. Explain in detail about the phasor analysis of magnetically coupled circuits.
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